—
»

N
III|III|I

usl*CurMon

—e
PO

0.8

0.6

0.4

usl*CurMon:Entry$

0.2

[ 1
L3

A
|III|II

100 120

run6078 000 maindet usl.png

i

Entry$

x10°

160

2200
2000
1800
1600
1400
1200
1000
800
600
400
200

usl*CurMon {ErrorFlag==0}

evtlree
Entries 47633
Mean 1.506

Std Dev 0.009791

1.54
usl*CurMon

10000
B X
8000 ~»
B o ot g
B l‘-;i: ) o }}Eg}{iﬁg}{ }{_
6000 7 [[* T A
4000
2000
D:— =tats H L
—2000
~4000
6000 .| | o
[ RS
—8000[— X
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
0 5000 10000 15000 20000 25000 30000 35000

asym_usl/ppm:pattern_number {ErrorFlag==0}

pattern_number

asym_ usl

= Entries 11897
140~ JJ; I m | Mean 4.018

I Std Dev 1526
120— i1

] Underflow 1006
100 | Overflow 1032
80—
60
40

I | L 1 1 1 | 1 1 1 | 1 1 1 | | 1 1 1 | L 1 1 1
-3000 -2000 -1000 0 1000 2000 3000

ppm




dsl*CurMon:Entry$

asi Lurmvion

ST
AE
]
HE

-2.54% f

HE
A,
A )
Ak

3%

Ak
g

-3.5 | | | _
T N T T T
0 2( 40 60 g0 100 120

run6078 000 maindet dsl.png

2000

1800

1600

1400

1200

1000

800

600

400

200

.|| ||| H1U3
140 160 —g

Entry$

dsl*CurMon {ErrorFlag==0}

evilree

Entries 47633

Mean -3.608

Std Dev 0.01338

I|J__LJJJ.JI||

66 -3.64

-3.62

-3.6

-3.58 -3.56 -3.54 -3.52

dsl*CurMon

asym_dsl/ppm:pattern_number {ErrorFlag==0}

1500 —
i X
1000~ > DS }{2
500~
i i
~500
~1000[- T E BN B
- X e
_-ISDD_II||||||||||||||||||||||||||||||||||

0 5000 10000 15000 20000 25000 30000 35000
pattern_number

asym_dsl
- Entries 11897
900
- Mean —4.717
800
- Std Dev 319.6
700
E Underflow 0
600
B Overflow 0
500
400
300
200
100
‘D:IIII|III_LIIIIJIIIIL.III|IIII
~3000 -2000 —1000 0 1000 2000 3000
ppm




asym_usr/ppm:pattern_number {ErrorFlag==0}

usr*CurMon:Entry$ usr*CurMon {ErrorFlag==0}

S : evilree L
5 1.6 1600 — 10000 y " ;
O - _ i
T - Entries 47633 i y __}{%gﬁ .
S5 1.4 1400 — - TTT#7
- Mean 1.537 5000 —
1.2 1200 i
a, L : Std Dev 0.01809 I
1 1000~ I
u u 0
0.8[-§ ; 800 I
0.6 % 600~ 5000
0.4/ 8 400 -] LILIEL 5l
- T % }{§}{§ 3K }{%é:xi
i u - ols
0.2 200 10000 %~ e
..r.* s - |IIIlllﬂlll'.?‘":‘lﬂ3 D_I|JII I|I I|I I|I I|I |III IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
) 20 40 60 80 100 120 160 146 148 15 152 154 156 158 1.6 0 5000 10000 15000 20000 25000 30000 35000
Entry$ usr*CurMon pattern_number

run6078 000 maindet usr.png

asym_usr

" Entries 11897
120 Mean  —11.37
110 Std Dev 1584
100E- J [ Underflow 1607

E Overflow 1679

90 L 1

- HL

80

70 I T

60f 1&

EDH )

4.0 : | I | L 11 1 | | I | | | I | | I | L 11 1

3000 -2000 —1000 0 1000 2000 3000
ppm




dsr*CurMon:Entry$

- ) F 3
g . *
= 2000
> 05
% 1800
_1_ 1600
1400
-1.5
K : 1200
o[ ; 1000
; 800
—2.514 : 1
[ % : 600
3% : 400
1 i 200
_3'5-_ " I R R | :ﬁﬂi'lﬂ:3 0
0 20 40 60 80 100 120 140 160
Entry$

run6078 000 maindet dsr.png

dsr*CurMon {ErrorFlag==0}

II|III|IIJ|III|I

evilree

Entries 47633

Mean -3.575

Std Dev 0.01538

J.I||||||||

—362 -3.6 -3.58 -3.56 -3.54 -3.52 -3.5 -3.48

dsr*CurMon

1500

1000

500

—500

-1000

—1500

asym_dsr/ppm:pattern_number {ErrorFlag==0}

[ &
N P b KoM
b T
Ll : 5-5{:;:- g
%% g X

0 5000 10000 15000 20000 25000 30000 35000

pattern_number

asym_dsr

i Entries 11897
700 Mean 3.943
EDD:— Std Dev 379.6

- Underflow 0
500

B Overflow 0
400
300
200
100

‘D_Illllll...l IIJ_I|IIIJ_ II|IIII
-3000 -2000 -1000 O 1000 2000 3000
ppm




0.0109

01085

0.0108

01075

0.0107

01065

0.0106

01055

0

yield usl:pattern_number {ErrorFlag==0}

5000 10000 15000 20000 25000 30000 35000
pattern_number

run6078 000 pairTree usl.png

1000

800

600

400

200

yield_usl {ErrorFlag==0}

- htemp

Entries 23810

Mean 0.01071

Std Dev 3.861e—05

_IIJ_II IIII|III

0.010550.01060.010630.0 B[.'I.D‘IDBSD.D‘IDQ

yield usl

15000

10000

5000

-5000

10000

15000

asym_usl/ppm:pattern_number {ErrorFlag==0}

- s

- ¢ X o o% o

L xkox Ll

[ £ T XX &

C 7Tl T Tl X

||t L]4d s

x| L o Lo

T Lx ix Lobxgdd ) Ixx
s W Lk

- %o 2T wm %

- % x

- s %

; s

I I | I I | L 111 | 11 1 | 11 1 | I I | I I | l

0 5000 10000 15000 20000 25000 30000 35000

pattern_number

800

700

600

500

400

300

200

100

asym_usl/ppm {ErrorFlag==0}

PairTree
Entries 23810
Mean 13.44

Std Dev 4032

J_|I

-15000-10000 -5000

0

5000

10000 15000
asym_usl/ppm




0.0255

02555

0.0256

02565

0.0257

02575

0.0258

0

yield dsl:pattern_number {ErrorFlag==0}

5000 10000 15000 20000 25000 30000 35000

pattern_number

run6078 000 pairTree dsl.png

800
700
600
500
400
300
200

100

0.0

yield_dsl {ErrorFlag==0}

I | L.L III|IIII|

htemp

Entries 23810

Mean —0.02566

Std Dev 4.545e—05

25850.02580.025750.02

| |
57

0.025650.02560.025550.0255

yield dsl

3000

2000

1000

-1000

-2000

-3000

asym_dsl/ppm:pattern_number {ErrorFlag==0}

| ]
K
1K
(Wi
(1]
(1]

[ 1]
[ ]
[l 1]
[illi]
[l 1]
[ ]
i
i ]
[l ]
]

il

0

5000

10000 15000 20000 25000 30000 35000
pattern_number

600
500
400
300
200

100

3

asym_dsl/ppm {ErrorFlag==0}

PairTree
Entries 23810
Mean —-4.487

Std Dev 1055

.-LI_|I

I
000

-2000

-1000

0

1000

2000 3000
asym_dsl/ppm




yield_usr:pattern_number {ErrorFlag==0} yield _usr {ErrorFlag==0} asym_usr/ppm:pattern_number {ErrorFlag==0} asym_usr/ppm {ErrorFlag==0}

n 30000 - .
: : htemp : }{ _ PairTree
0.0112 900 - TT T 500~
i Pl " Entries 23810 20000 | T 10T é i Entries 23810
] R 8001 i 7111118 [ -
0.0111~ e .- Mean  0.01094 - 400 Mean 13.59
i E 10000 — el I
0.01 -I__ 600 :— Std Dev 6.467e—05 = R | i : Std Dev 9345
ot : I 300
i 500 01— EHOHEE sl=lalsl=lalul=1alS1z18 i
0.0109 400 - I 1 -
I - - 200
B - 10000 — -
_ 300 - T =
0.0108 H%¢it o SR - - ] I
R A T 200 - LT 5
B S : 20000~ ||| |5 ;! 100r
0.0107F 100 - S -
_|||||||||||||||||||||||||||||||||||| D:II |||||||||||||||||| |_L|| _BDDDD_III||||||||||||||||||||||||||||||||| _II|||||||||||||||||||||||r||_||
0 5000 10000 15000 20000 25000 30000 35000 0.010Y 0.0108 0.0109 0.011 0.0111 0.0112 0 5000 10000 15000 20000 25000 30000 35000 —B%DDD -20000 -10000 0 10000 20000 30000
pattern_number yield_usr pattern_number asym_usr/ppm

run6078 000 pairTree usr.png



yield dsr:pattern_number {ErrorFlag==0}

02525

0.0253

02535

0.0254

02545

0.0255

02555

DDEEE [ 11 | | [ 11 | | I I | I I | L1 1 1 | L1 1 1 | -I. I | l
0 5000 10000 15000 20000 25000 30000 35000
pattern_number

run6078 000 pairTree dsr.png

800

700

600

500

400

300

200

100

yield_dsr {ErrorFlag==0}

-

htemp

Entries 23810

Mean —0.02543

Std Dev 5.134e—05

—-0.0258.0255D9.02%

1 | [ 1 |
.02539.0258.02525

yield dsr

asym_dsr/ppm:pattern_number {ErrorFlag==0}

2000

1500

1000

500

-500

-1000

—1500

-]
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-2000

% Pt
Pt HMX KK
s M W W
X W W WO R K
- T TR T TR TG TR
Lo L —-x—-§—- L1
> g R P
XX e W ®
K x x 0 x x
KoK X
III|IIII|IIII|IIII|IIII|IIII|IIII|I

=N

5000 10000 15000 20000 25000 30000 35000
pattern_number

900

800

700

600

500

400

300

200

100

asym_dsr/ppm {ErrorFlag==0}

|||I_l

PairTree

Entries 23810

Mean 3.891

Std Dev  527.6

-2000-1500-1000-500 O

500

1000 1500 2000

asym_dsr/ppm




asym_usl

asym_dsl

asym_usr

asym_dsr

run6078 000 asym

asym_usl

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

—10C

—80(

D_IIIII|III|III|III|III|III|III|III|III

::_

asym_usl

EI'B»D 006-0.0040.002 0 0.0020.0040.0060.008 0.01

asym_usl

2.0015—

0.001

J.0005

1.0005

Sy

—0.001

=
IIII|IIII|IIII|IIII|IIII|IIII

].ﬂﬂ15 I|III|III|III|III|III|III|III|III|III

—10C

e

—-0.0080.006-0.0040.002 0 0.0020.0040.0060.008 0.01

asym_usl

asym_usl

0.01—

0.005

-0.005—

-0.01—

—10C¢

—-0.0080.006-0.0040.002 0 0.0020.0040.0060.008 0.01

asym_usl

asym_usl

2.0015—

0.001

2.0005

1.0005

—0.001

1.0015

—D 0080.006-0.0040.002 H 0020004 0.0060.008 0.01

nmaliil

N —10¢
0.008]- - =
0.006
- g0
0.004—
C m
0.002—- ® 80
C m
o N
-0.002F N 40
-0.004
- 20
-0.006
-0.008|- | ..| | .| | |
—0.0015 —0.001 —0.0005 0  0.0005 0.001 0.0015
asym_dsl
7.0015—
- | 10
0.001—
- —l80¢
7.0005 —
i 60(
D_
: 40(
7.0005 —
—0.001 200
:I..ﬂﬂ _I L1 1 | | I I | | L1 1 1 | | I I | | | I | I | I I | |
00075 —0.001 —0.0006 0  0.0005 0.001 0.0015
asym_ds|
0.01—
I —0¢
0.005 —80
o 60
0.005—
_0.01 ..
_I L1 1 | | I | | L1 1 1 | | I | | | I | I | I | |

-0.0015 -0.001 -0.0005 0 0.0005 0.001 0.0015

asym_dsl

asym_dsl

2.0015

0.001

J.0005

J.0005

-0.001

J.0015

—10C

&0

i

“iiatual correlation:COLZ,

asym_usr

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
IIIII|III|III|III|III|III|III|III|III

—10C¢

&0

40

asym_usr

—-0.01 —-0.005

2.0015—

0.001

J.0005

J.0005

-0.001

=
IIII|IIII|IIII|IIII|IIII|IIII

:I..ﬂﬂ15 11| | L1 1 | I

20
| | | | 1 | | | D
0.005 0.01
asym_usr
—10(
— &0

20

| | L1 1 | | | D

—-0.01 —-0.005

asym_usr

0.005 0.01
asym_usr

0.01—

0.005

-0.005—

-0.01—
|

—10C¢

—80C

B0(

400

20(

| | 1 1 1 | | D

—-0.01 —-0.005

asym_usr

0.005 0.01
asym_usr

2.0015

0.001

J.0005

J.0005

-0.001

J.0015

—10C

&0

40

20

-0. DIDE

png

asym_dsr
0.0
o i _lao

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
IIIII|III|III|III|III|III|III|III|III

-0.0015 -0.001 -0.0005 O 0.0005 0.001 0.0015
asym_dsr

asym_dsr
J.0015
L . —10(
0.001 -
— &0
J.0005

J.0005

ml

-0.001

s B

jlﬂﬂ‘IEI|IIII|IIII|IIII|IIII|IIII|IIII|
-0.0015 -0.001 -0.0005 O 0.0005 0.001 0.0015

asym_dsr

B B I A B R
n

asym_dsr

0.01—

—10C¢

0.005

-0.005—

-0.01—

-0.0015 -0.001 -0.0005 O 0.0005 0.001 0.0015
asym_dsr

asym_dsr

1.0015H —10¢

0.001
—80C

J.0005

J.0005

-0.001

-

-0.0015 -0.001 -0.0005 O 0.0005 0.001 0.0015
asym_dsr

J.0015




asym_usl

asym_dsl

asym_usr

asym_dsr

22 I ndf 982 /43 - ¥/ ndf 43.56 / 39 ¥2 / ndf 41.85/ 41
= p0 1.399e05 + 2.060e-05 ] p0 1.194e-05 + 2.018e-05
p0  3.004e-07 = 5.264e-07 =
=~ p1 0.01449 + 0.07224 p1 01609 + 0.0083
p1 0.9994 = 0.0003 Cor factor ~0.0012 ' Cor factor 0.1924 J[ w }
[ - | T T _
0.002- - | | | - u .
N - | t n .
N U H ] ol e Ir .
D_— = * |- + 1} - [ _ +
- B * ~0.001F H
0.002F- —0.001 - - - H
- - -0.002
-0.004 - - N
- E -0.002 n
- = - _ -0.003F
0.006 7 - n
s ~0.003 -0.004 )
_DLDGE —_I | L1 1 | 111 | L1 1 | L1 1 | | | | | | | | | I | I | I | I | | i | I I | | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 I L1 1 1 | [ 1 | | | | | | | 1 | | | I | | | 1 | | | 1 | | | |
~0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 -0.0015 -0.001 —0.0005 0  0.0005 0.001 0.0015 -0.01  -0.005 0 0.005 0.01
= 2§ ay
i il ndf 28.28 /43 xz ! ndf 31.32 /39 - - il nat 5245/ 41
0.4l PO ~3.507e—06 + 2.999¢ 06 - p0 ~3.83%9e-06 + 2.986e—06
ol p0  5.761e-08 + 8.362e—08 F _
B p1 —0.0009413 + 0.0015571 - p1 0.000576 £ 0.001222 }l _
0.2 Cor factor -0.0012 p1 0.9992 £ 0.0003 Cor factor 0.0050 |y | + {
| — | T
of } 1l ! S [ | H H !
- D_ |
B + { }w H = N '
= ‘| B —DLE__ -
02 |. 7.0005— _oaf *
- i = ~0.4F }
-0.4— —-0.001 ra - -
! [ - 0.5
[ 1 | 111 | 1 11 | 111 | L1 1 | L1 1 | L1 1 | L1 1 I L1 1 I L1 1 | _I 1 1 1 | 11 1 1 | | I T | | I I | | | I I | I 11 1 1 | : | | | 1 1 | | | 11 1 1 I | | 1 1 | | 1 1 | | | |
~0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 -0.0015 -0.001 —0.0005 0  0.0005 0.001 0.0015 -0.01  -0.005 0 0.005 0.01
12 |'I rldt 41 -'q-E- |'I "1-3 - }:2 |'I ﬂdl‘ 41 3 .'r 39 Iillr ndl: 33.8? IIr 41 ___‘
p0 7.073e-06 + 2.512e05 p0 1.912e-05 + 2.557e-05 -
p0  —B.874e-07 + 6.889e-07 =
p1 0.2286 =+ 0.0129 p1 0.03828 £ 0.09012 =
Cor factor 0.1924 H&H ﬂ } Cor factor 0.0050 1{ } p1 0.9992 + 0.0003
i H }l B T I - I
: ) o | RE——T
o | ¥ LR HH H o
- B _l_ -
-0.002}— f -0.0021~ i
- 1] i | _ ~0.005\-
-0.004 - }l -0.004{ -
- - -0.01
-0.006 - - -
—Il 111 | 1 11 | 111 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 II 1 1 I 11 I| —D.ﬂﬂ6_| 1 1 1 | 1 1 1 | 1 1 1 1 | I I | | 1 1 1 1 I 1 1 1 | | | | 1 1 | | | 11 1 1 I | | | | | | | | | | | |
~0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 -0.0015 -0.001 -0.0005 0  0.0005 0.001 0.0015 -0.01  -0.005 0 0.005 0.01
2 { ndf 52.72 /43 2 { ndf 27.2 /39 ) E: 2 { ndf 36.3 / 41
p0 2.379¢ —06 + 3.535¢ —06 p0 4.061e-06 + 3.554e06 i p0 3.127e-06 + 3.536e-06
o 0.0005%157 + 0.0018367 p1 0.005917 + 0.012684 DA__ p1 —0.001863 = 0.001484
Cor factor —-0.0024 { T Cor factor -0.0015 0.2 Cor factor -0.0104
3T —— my 1 T e
o |I'T ! 0 ]l ¥ } T
i ~ H ¥y {1 { ) ' } Hoy 41 | N -
- | — - } . 1
—0.2 f - ” 0.2 R
_0.4F _0.2F -0.4
060 I —0.6F
- ~0.4 _ - -
—DLE—F | 111 | 1 11 | 111 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 I 1 1 1 I 1 1 1 | _I 1 1 1 | 1 1 1 | 1 1 1 1 | I I | | 1 1 1 1 I 1 1 1 | —D.B_| | | 1 1 | | | 11 1 1 I | | | | | | | | | | | |
0 0 0.005 0.01

run6078 000 asym maindet mutual correlation-fit.ong

00E ¥2 ¢ ndf 53.75/ 43
0.003 - pO 1.814e-05 + 2.049e-05
0.002F p1 —0.04364 + 0.06132
E Cor factor -0.0024
0.001 ||
| st ]
£
B } 1 + 4 _
-0.001 Wl Wl {
-0.002-
-0.003
-0.004 )

—0.0015 —0.001 -0.0005 0O 0.0005 0.001 0.0015

: ¥2 { ndt 4869/ 43

0.3~ B0 _3.736e—06 + 2.980e-06

02f p1 —0.004112 + 0.008824

[ Cor factor —0.0015
0.1
O
-0.1F
-0.2F
-0.3F

:||||||||||||||||||||||||||||||||||

—0.0015 —0.001 -0.0005 0O 0.0005 0.001 0.0015
D.ﬂﬂ;—’ —

- ¥ { ndt 39.66 / 43
0.0041 p0 1714605 + 2.5496-05
0.003F pi ~0.06303 + 0.07708
0.002 :— Cor factor —-0.0104
0.001 i

OF
—0.001
-0.002
-0.003F
—D,ﬂﬂq:lllllllllllIllllllllllllllllllllll
—0.0015 —0.001 -0.0005 0 0.0005 0.001 0.0015
20015 hternp
n.nm_— Entries 11897
E Mean 3.9432—06
7.0005
- Meany 3.943e-08
0l
a Std Dev 0.0003796
7.0005— Std Dev y0.0003796
—0.001 &
7.0015 -~
_||||||||||||||||||||||||||||||||||
—0.0015 —0.001 -0.0005 0 0.0005 0.001 0.0015



asym_usl

asym_dsl

asym_usr

asym_dsr

0.0

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

asym_usl

"

s

—-0.0080.006-0.0040.002 0 0.0020.0040.0060.008 0.01

asym_usl

J.0015

0.001

J.0005

1.0005

—0.001

1.0015

asym_usl

—-0.0080.006-0.0040.002 0 0.0020.0040.0060.008 0.01

asym_usl

0.01

0.005

-0.005

-0.01

asym_usl

—-0.0080.006-0.0040.002

asym_usl

2.0015

0.001

2.0005

1.0005

—0.001

1.0015

0 0.0020.0040.0060.008 0.01

asym_usl

0.0

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
IIIII|III|III|III|III|III|III|III|I

asym_dsl

-0.0015 -0.001

—0.0005 0

asym_dsl

0.0005 0.001

0.0015

asym_dsl

J.0015—
0.001—

J.0005—

J.0005—

—0.001 yd

-

i I
70049015 —0.001

—0.0005 0

asym_dsl

0.0005 0.001

0.0015

asym_dsl

0.01—

0.005

-0.005—

-0.01—

-0.0015 -0.001

—0.0005 0

asym_dsl

0.0005 0.001

0.0015

asym_dsl

2.0015

0.001—

J.0005—

J.0005—

-0.001—

10015

run6078 000 asym

‘maindet mutua

—0.0005

| correlation:scat.png

0.0015

0.0

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

asym_usr

—-0.01

—0.00

asym_usr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

5 0

0.005

0.01
asym_usr

—-0.01

—0.00

asym_usr

0.01

0.005

-0.005

-0.01

5 0

0.005

0.01
asym_usr

asym_usr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

3] 0

0.005

0.01
asym_usr

0.0

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

asym_dsr

-0

asym_dsr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

—0.0015 -0.001 -0.0005

L0015 -0.001 -0.0005

0 0.0005 0.001

0.0015

asym_dsr

asym_dsr

0.01

0.005

-0.005

-0.01

—-0.0015 -0.001 -0.0005

0 0.0005 0.001

0.0015

asym_dsr

asym_dsr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

0 0.0005 0.001

0.0015

asym_dsr

—-0.01 —0.00

1
3] 0

0.005

0.01
asym_usr

—-0.0015 -0.001 -0.0005

0 0.0005 0.001

0.0015
asym_dsr



